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abylonian Square Root Aprox is 6.75

Difference of x_n+l - x_n: 4.75

Tteration #2

abylonian Square Root Aprox is §.0787
Difference of x_n+l - x_n: 1.6713
Iteration #3

abylonian Square Root Aprox is 4.88371
Difference of x_n+l - x_n: 0.274995
Iteration #4

abylonian Square Root Aprox is 479584
Difference of x_n+l - x_n: 0.00787121
Iteration #5

abylonian Square Root Aprox is 4.79583
Difference of x_n+l - x_n: 6.45934e-086
Iteration #6

sing sqrt<) the result is : 4.79583
Difference hetueen sqrt() and habylonian is : —4.3503¢-012
Press any key to continue - -
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CET3510 – Microcomputer Systems Technology
Lab #5
Instructions:
Create a C++ program the will approximate the square root of a number using the Babylonian Algorithm explained below. Display partial results as you approximate the square root. After approximating the square root up to the tolerance, compare it with the result obtained by using the sqrt( ) function in the math.h library.
Babylonian Algorithm:
1. Define a tolerance for error t. (For this lab t = 0.00001);

2. Enter the number x you want to find its square root.
3. Start with an initial guess x0 for the square root of x (if you can get close to the actual square root is better. Otherwise choose an arbitrary number such as x/2).
4. Compute xn+1 = (xn + x/xn )/2.
5. Compute the difference between xn+1 and xn and continue until the difference is less than the tolerance t.
Output Example:
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Lab Report: 

On your OpenLab portfolio create a new page and post the following items:
1. Lab description.

2. Source Code.

3. Screenshots of you program running.

Deadline: December 06, 2013
